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1. What is the instrument used to measure the

height of the body called?

(A) Stadiometer

(B) Manometer

(C) Goniometer

(D) Dynamometer

2. What istrument is the heart rate measured

with?

(A) Spirometer

(B) Manometer

(C) Stethoscope

(D) Goniometer

3. What instrument is used to measure blood

pressure?

(A) Sphygmomanometer

(B) Goniometer

(C) Stethoscope

(D) Manometer

4. Minimum Muscular Fitness test is measured

by :

(A) Harvard Step test

(B) Kraus Weber Muscular Fitness test

(C) Tuttle Pulse Ratio test

(D) None of these

5. How is Agility measured?

(A) Vertical Jump

(B) Shuttle pun

(C) Shot put

(D) High Jump

1. 'kjhj dh Å¡pkbZ ekius ds ;a= dks D;k dgrs

gSa\

(A) LVsfM;ksehVj

(B) eSuksehVj

(C) xksfu;ksehVj

(D) Mk;useksehVj

2. ân; dh /kM+du fdl ;a= ls ekih tkrh

gS\

(A) Lik;jksehVj

(B) eSuksehVj

(C) LVsFkksLdksi

(D) xksfu;ksehVj

3. jDr ncko fdl ;a= ls ekik tkrk gS\

(A) fLQXekseSuksehVj

(B) xksfu;ksehVj

(C) LVsFkksLdksi

(D) eSuksehVj

4. fefuee eLdqyj fQVusl VsLV ekik tkrk

gS %

(A) gkoZMZ LVsi VsLV }kjk

(B) Økl oscj eLdqyj fQVusl VsLV }kjk

(C) VVy iYl jsf'k;ks VsLV }kjk

(D) buesa ls dksbZ ugha

5. piyrk fdlls ekih tkrh gS\

(A) ofVZdy tEi

(B) 'kVy ju

(C) xksyk Qsad

(D) Å¡ph dwn

[P.T.O.]
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6. AAHPERD test consists of :

(A) 5 items

(B) 6 items

(C) 7 items

(D) 8 items

7. What is the purpose of Volleying test?

(A) Service

(B) Defence

(C) Lifting

(D) Volleying ability

8. Brady’s Volleyball skill test was constructed

on :

(A) 537 college men volleyballers

(B) 537 college women volleyballers

(C) 537 school boys volleyballers

(D) 537 school girls volleyballers

9. What is the Test-Retest reliability coefficient

of Brady’s Volleyball skill test?

(A) 0.93

(B) 0.94

(C) 0.92

(D) 0.91

10. Mc Donald Soccer skill test constructed in

the year :

(A) 1952

(B) 1951

(C) 1950

(D) 1949

6. vkgij ijh{k.k eas 'kkfey gSa %

(A) 5 vkbVe

(B) 6 vkbVe

(C) 7 vkbVe

(D) 8 vkbVe

7. okfyax ijh{k.k dk mn~ns'; D;k gS\

(A) lfoZl

(B) j{kk

(C) mBkus dh

(D) okfyax {kerk

8. czSMh okWyhcky dkS'ky ijh{k.k dk fuekZ.k

fd;k x;k Fkk %

(A) 537 dkWyst iq#"k okWyhcky f[kykfM+;ksa ij

(B) 537 dkWyst efgyk okWyhcky f[kykfM+;ksa

ij

(C) 537 Ldwy Nk= okWyhcky f[kykfM+;ksa ij

(D) 537 Ldwy Nk=k okWyhcky f[kykfM+;ksa ij

9. czSMh okWyhcky fLdy VsLV dk VsLV&fjVsLV

fo'oluh;rk xq.kkad D;k gS\

(A) 0.93

(B) 0.94

(C) 0.92

(D) 0.91

10. eSd~MksukYM lkWdj dkS'ky ijh{k.k fdl o"kZ

fufeZr gqvk\

(A) 1952

(B) 1951

(C) 1950

(D) 1949
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11. Barrow test measure the :

(A) Physical fitness

(B) Wellness

(C) General motor ability test

(D) Strength

12. Indiana Motor Fitness test constructed in

which year?

(A) 1946

(B) 1945

(C) 1944

(D) 1943

13. Indiana Motor Fitness test constructed for :

(A) College men

(B) College women

(C) School children

(D) All of the above

14. Which is not a battery of Indian Motor Fitness

test?

(A) Pull-ups

(B) Floor push-ups

(C) Vertical jump

(D) Shuttle run

15. Canadian Home Fitness Test (CHFT)

constructed in the year :

(A) 1974

(B) 1975

(C) 1976

(D) 1977

11. cSjks VsLV ekirk gS %

(A) fQftdy fQVusl

(B) osyusl

(C) lkekU; eksVj {kerk ijh{k.k

(D) rkdr

12. bafM;kuk eksVj fQVusl VsLV dk fuekZ.k fdl

o"kZ fd;k x;k\

(A) 1946

(B) 1945

(C) 1944

(D) 1943

13. bafM;kuk eksVj fQVusl VsLV fdlds fy, cuk;k

x;k Fkk\

(A) dkWyst iq#"k

(B) dkWyst efgyk,a

(C) Ldwyh cPps

(D) mi;qZDr lHkh

14. bafM;kuk eksVj fQVusl VsLV dh cSVjh ugha

gS %

(A) iqy&vIl

(B) ¶yksj iq'k&vIl

(C) ofVZdy tEi

(D) 'kVy ju

15. dusfM;u gkse fQVusl VsLV (CHFT) fdl o"kZ

cuk;k x;k\

(A) 1974

(B) 1975

(C) 1976

(D) 1977

[P.T.O.]
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16. What is the purpose of Shuttle Run in

AAHPERD test?

(A) Speed and Agility

(B) Endurance

(C) Strength

(D) None of these

17. Purpose of six hundred yards run/walk

measure in AAHPERD test is :

(A) Speed

(B) Strength

(C) Endurance

(D) Co-ordination

18. How many total test items are there in

AAHPERD test ?

(A) 5

(B) 4

(C) 6

(D) 8

19. When and who created Brady Volleyball

test ?

(A) George F. Brady (1945)

(B) Elizabeth Lange (1845)

(C) Naomi Russell (1935)

(D) Vernon Crew (1835)

20. Which scholar developed the physical

fitness index?

(A) Thorndike

(B) Thomas

(C) Fredrick Range Rogers

(D) Diamus Thot

16. vkgij VsLV esa 'kVy ju dk mn~ns'; D;k

gS\

(A) xfr vkSj piyrk

(B) lgu'kfDr

(C) rkdr

(D) buesa ls dksbZ ugha

17. vkgij VsLV esa 600 xt dh nkSM+ dk mn~ns';

gS %

(A) xfr ekiu

(B) rkdr ekiu

(C) lgu'kfDr ekiu

(D) leUo; ekiu

18. vkgij VsLV esa dqy fdrus vkbVe gSa\

(A) 5

(B) 4

(C) 6

(D) 8

19. cS zMh okWyhcky VsLV fdlus vkSj dc

cuk;k\

(A) tktZ ,Q- czsMh (1945)

(B) ,fytkcsFk ysUt (1845)

(C) ukvkseh jlsy (1935)

(D) osjuku fØm (1835)

20. fQftdy fQVusl baMsDl fdl fo}ku us

fodflr fd;k\

(A) FkkWuZMkbd

(B) FkkWel

(C) ÝsMfjd jsUt jkstlZ

(D) Mkbel FkkWV
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21. In Johnson Basketball test battery, how

many includes basic skill?

(A) 3 items

(B) 4 items

(C) 5 items

(D) None of these

22. How many items include potential basketball

ability in Johnson basketball test?

(A) 3

(B) 4

(C) 5

(D) 6

23. Which is related to basic basketball skill test

items?

(A) Field goal speed test

(B) Basketball throw for accuracy

(C) Basketball dribble test

(D) Footwork

24. Which is not related potential basketball

ability test?

(A) Footwork

(B) Jump and reach

(C) Dodging run

(D) Dribble test

25. Johnson basic basketball skill test items are

divided in _____.

(A) Two groups

(B) Three groups

(C) Four groups

(D) None of these

21. tkWulu ckLdsVcky VsLV esa fdrus cqfu;knh

dkS'ky 'kkfey gSa\

(A) 3 vkbVe

(B) 4 vkbVe

(C) 5 vkbVe

(D) buesa ls dksbZ ugha

22. tkWulu ckLdsVcky VsLV esa lEHkkfor

ckLdsVckWy {kerk esa fdrus vkbVe 'kkfey gSa\

(A) 3

(B) 4

(C) 5

(D) 6

23. cqfu;knh ckLdsVckWy dkS'ky ijh{k.k vkbVe

ls lEcfU/kr gS %

(A) QhYM xksy LihM ijh{k.k

(B) lVhdrk ds fy, ckLdsVckWy Fkzks

(C) ckLdsVckWy fMªcy VsLV

(D) QqVodZ

24. lEHkkfor ckLdsVckWy {kerk ijh{k.k ls lEcfUèkr

ugha gS %

(A) QqVodZ

(B) tEi ,.M jhp

(C) Mkftax ju

(D) fMªcy VsLV

25. tkWulu csfld ckLdsVckWy fLdy VsLV vkbVe

foHkkftr gSa %

(A) 2 xzqiksa esa

(B) 3 xzqiksa esa

(C) 4 xzqiksa esa

(D) buesa ls dksbZ ugha
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26. What is the purpose of the National Physical

Efficiency test?

(A) General Interest

(B) Awareness in physical activity

(C) Improve basic physical fitness

(D) All of the above

27. National Physical Efficiency test constructed

in the year :

(A) 1958 - 59

(B) 1957 - 58

(C) 1959  - 60

(D) None of these

28. National Physical Efficiency test consist of

how many batteries?

(A) 2

(B) 3

(C) 4

(D) 5

29. In National Physical Efficiency test, Battery

A consist of :

(A) 4 track and field items

(B) 5 track and field items

(C) 6 track and field items

(D) None of these

30. What is the purpose of 600 yards run-walk

in AAHPERD test?

(A) To measure the endurance

(B) To measure the speed

(C) To measure the strength

(D) None of these

26. jk"Vªh; 'kkjhfjd n{krk ijh{k.k dk mn~ns';

D;k gS\

(A) lkekU; fgr

(B) 'kkjhfjd xfrfof/k esa tkx:drk

(C) cqfu;knh 'kkjhfjd fQVusl esa lq/kkj

(D) mi;qZDr lHkh

27. jk"Vªh; 'kkjhfjd n{krk ijh{k.k fdl o"kZ

cuk;k x;k\

(A) 1958 - 59

(B) 1957 - 58

(C) 1959  - 60

(D) buesa ls dksbZ ugha

28. jk"Vªh; 'kkjhfjd n{krk ijh{k.k esa fdruh

cSVfj;ka gksrh gSa\

(A) 2

(B) 3

(C) 4

(D) 5

29. jk"Vªh; 'kkjhfjd n{krk ijh{k.k esa cSVjh A esa

'kkfey gSa %

(A) 4 VSªd ,.M QhYM xfrfof/k;ka

(B) 5 VSªd ,.M QhYM xfrfof/k;ka

(C) 6 VSªd ,.M QhYM xfrfof/k;ka

(D) buesa ls dksbZ ugha

30. vkgij VsLV esa 600 ;kMZ ju vkSj okWd dk

D;k mn~ns'; gS\

(A) lgu'kfDr ekius ds fy,

(B) xfr ekius ds fy,

(C) rkdr ekius ds fy,

(D) buesa ls dksbZ ugha
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31. What is the reliability coefficient of Lockhart

and Mc Pherson Badminton skill test?

(A) 0.90

(B) 0.80

(C) 0.89

(D) 0.84

32. What is the validity coefficient ranged in

Lockhart and Mc Pherson Badminton skill

test?

(A) 0.60 to 0.69

(B) 0.60 to 0.70

(C) 0.60 to 0.80

(D) 0.60 to 0.90

33. Lockhart and Mc Pherson Badminton skill

test contructed in the year :

(A) 1946

(B) 1947

(C) 1948

(D) 1949

34. Russell-Lange Volleyball test is

recommended for :

(A) Junior high school girls

(B) Junior high school boys

(C) College men

(D) College women

35. Russell-Lange Volleyball test consists of :

(A) One item

(B) Tow items

(C) Three items

(D) Four items

31. ykSdgkVZ vkSj eSd~ijlu cSMfeaVu fLdy VsLV

dk fo'oluh; xq.kkad gS %

(A) 0.90

(B) 0.80

(C) 0.89

(D) 0.84

32. ykSdgkVZ vkSj eSd~ijlu cSMfeaVu fLdy VsLV

esa oS/krk xq.kkad dh jast D;k gS\

(A) 0.60 ls 0.69

(B) 0.60 ls 0.70

(C) 0.60 ls 0.80

(D) 0.60 ls 0.90

33. ykSdgkVZ vkSj eSd~ijlu cSMfeaVu dkS'ky

ijh{k.k fdl o"kZ gqvk Fkk\

(A) 1946

(B) 1947

(C) 1948

(D) 1949

34. jlsy&ykats okWyhcky ijh{k.k fdlds fy,

vuqlaf'kr gS\

(A) twfu;j gkbZLdwy dh yM+fd;k¡

(B) twfu;j gkbZLdwy ds yM+ds

(C) dkWyst iq#"k

(D) dkWyst efgyk,a

35. jlsy&ykats okWyhcky ijh{k.k esa 'kkfey gS %

(A) ,d vkbVe

(B) nks vkbVe

(C) rhu vkbVe

(D) pkj vkbVe

[P.T.O.]
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36. Mc Donald Soccer skill test constructed

on :

(A) College men

(B) College women

(C) School children boys

(D) School children girls

37. What is the validity coefficient of the Mc

Donald Soccer Skill test?

(A) 0.64 to 0.95

(B) 0.61 to 0.96

(C) 0.63 to 0.94

(D) None of these

38. Mc Donald Soccer Skill test measuring :

(A) Accurate Kicking

(B) Ball control

(C) Judgement of a moving ball in

soccer

(D) All of the above

39. Johnson Basketball test was constructed

in :

(A) 1933

(B) 1934

(C) 1935

(D) 1936

40. Johnson basketball test consist of :

(A) 6 Batteries

(B) 7 Batteries

(C) 8 Batteries

(D) 5 Batteries

36. eSd~MksukYM lkWdj dkS'ky ijh{k.k dk fuekZ.k

fdlds Åij fd;k x;k\

(A) dkWyst iq#"kksa ij

(B) dkWyst efgykvksa ij

(C) Ldwy Nk=ksa ij

(D) Ldwy Nk=kvksa ij

37. eSd~MksukYM lkWdj dkS'ky ijh{k.k dh oS/krk

xq.kkad D;k gS\

(A) 0.64 ls 0.95

(B) 0.61 ls 0.96

(C) 0.63 ls 0.94

(D) buesa ls dksbZ ugha

38. eSd~MksukYM lkWdj dkS'ky ijh{k.k D;k ekiu

djrk gS\

(A) lVhd fdd ekjuk

(B) xasn ij fu;U=.k

(C) QqVckWy esa pyrh xasn dk fu.kZ;

(D) mi;qZDr lHkh

39. tkWulu ckLdsVcky VsLV dk fuekZ.k fdl o"kZ

fd;k x;k Fkk\

(A) 1933

(B) 1934

(C) 1935

(D) 1936

40. tkWulu ckLdsVcky VsLV esa 'kkfey gS %

(A) 6 cSVfj;ka

(B) 7 cSVfj;ka

(C) 8 cSVfj;ka

(D) 5 cSVfj;ka
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41. AAHPERD test was invented by :

(A) 1958, Honsicker

(B) 1959, Hunsicker

(C) 1958, Lords

(D) None of these

42. Which of the following terms does not

denote test?

(A) Implement

(B) Instrument

(C) Tool

(D) Technique

43. Measurement is fact-finding because it

merely provides :

(A) Preliminary status of pupils

(B) Overview of the situation

(C) Raw data (facts)

(D) A starting point for a new work

44. Norms of a test are worked out on the basis

of :

(A) Data obtained from testing

(B) Age, sex or grade

(C) Logical thinking

(D) Empirical evidence

45. An obstacle race is a good measure for :

(A) Co-ordination

(B) Speed of movement

(C) Body strength

(D) Extent flexibility

41. vkgij VsLV dk vkfo"dkj fd;k Fkk %

(A) gufldj us 1958 eas

(B) gufldj us 1959 eas

(C) ykM~lZ us 1958 eas

(D) buesa ls dksbZ ugha

42. fuEufyf[kr esa ls dkSu&lk 'kCn VsLV dks ugha

n'kkZrk\

(A) vey esa ykuk

(B) ok| ;a=

(C) vkStkj

(D) rduhd

43. eki rF;&[kkst gS D;ksafd ;g iznku djrk

gS %

(A) fo|kfFkZ;ksa dh izkjafHkd fLFkfr

(B) fLFkfr dk voyksdu

(C) dPpk vk¡dM+k

(D) ,d u, dke ds fy, 'kq#vkrh fcanq

44. ,d ijh{k.k ds ekin.Mksa ds vk/kkj ij dke

fd;k tkrk gS %

(A) ijh{k.k ls izkIr vk¡dM+k

(B) mez] fyax ;k Js.kh

(C) rkfdZd lksp

(D) vuqHkotU; lk{;

45. ,d ck/kk nkSM+ dk ,d vPNk mik; gS %

(A) leUo;

(B) xfrfof/k dh xfr

(C) 'kjhj dh rkdr

(D) gn rd yphykiu

[P.T.O.]
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46. How many types of Evaluation?

(A) 2 types

(B) 3 types

(C) 4 types

(D) 5 types

47. Miller Wall Volley test is invented by :

(A) Frances A Miller (1951)

(B) Harrison (1851)

(C) Johnson (1981)

(D) Pucker (1661)

48. Brady Volleyball test is made by :

(A) George F. Brady (1945)

(B) Elizabeth Lange (1845)

(C) Naomi Russell (1935)

(D) Vernon Crew (1835)

49. Measurement functions are :

(A) Classification

(B) Predictions and comparisons

(C) Counselling and guidance

(D) All of the above

50. Lockhart and Mc Person Badminton skill test

was constructed on :

(A) 50 college women

(B) 50 college men

(C) 50 school children

(D) None of these

46. ewY;kadu ds fdrus izdkj gSa\

(A) 2 izdkj

(B) 3 izdkj

(C) 4 izdkj

(D) 5 izdkj

47. feyj oky okWyh VsLV fdlus cuk;k\

(A) Ýkalst ,- feyj (1951)

(B) gSfjlu (1851)

(C) tkWulu (1981)

(D) iqdj (1661)

48. czsMh okWyhcky VsLV fdlus cuk;k\

(A) tkWtZ ,Q- czsMh (1945)

(B) ,fytkcsFk ykats (1845)

(C) ukWvkseh jlsy (1935)

(D) ojukWu Øw (1835)

49. ekiu ds dk;Z gSa %

(A) oxhZdj.k

(B) iwoZ dFku o rqyuk

(C) ijke'kZ ,oa funZs'ku

(D) mi;qZDr lHkh

50. ykSdgkVZ vkSj eSdijlu cSMfeaVu ijh{k.k dk

fuekZ.k fd;k x;k Fkk %

(A) 50 dkWyst efgykvksa ds Åij

(B) 50 dkWyst iq#"kksa ds Åij

(C) 50 Ldwyh cPpksa ds Åij

(D) buesa ls dksbZ ugha
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51. What are the standard steps of a test?

(A) Validity

(B) Reliability

(C) Object stability

(D) All of the above

52.  The meaning of Reliability is :

(A) Area of the subject

(B) Area of the instrument

(C) Area of the field

(D) None of these

53. AAHPERD youth fitness test is to measure :

(A) General Motor ability

(B) Motor fitness

(C) Motor educability

(D) None of these

54. The degree of uniformity with which various

testers scare the same test is found fat

through :

(A) Validity

(B) Reliability

(C) Objectivity

(D) All of the above

55. Reliability is denoted by :

(A) Consistence of performance

(B) Variability among groups

(C) Inconsistency among subject

(D) None of the above

51. fdlh ijh{k.k ds dkSu&ls ekud lksiku gksrs

gSa\

(A) oS/krk

(B) fo'oluh;rk

(C) oLrq fLFkjrk

(D) mi;qZDr lHkh

52. fo'oluh;rk dk vFkZ gS %

(A) fo"k; dk {ks=

(B) midj.k dk {ks=

(C) eSnku dk {ks=

(D) buesa ls dksbZ ugha

53. vkgij ;wFk fQVusl ijh{k.k ls ekik tkrk

gS %

(A) lkekU; eksVj {kerk

(B) eksVj fQVusl

(C) eksVj f'k{kk ;ksX;rk

(D) buesa ls dksbZ ugha

54. ,d:irk dh fMxzh ftlds lkFk fofHkUu ijh{kd

,d gh ijh{k.k djrs gSa] ds ek/;e ls olk

ik;k tkrk gS %

(A) oS/krk

(B) fo'oluh;rk

(C) fu"i{krk

(D) mijksDr lHkh

55. fo'oluh;rk fu:fir gS %

(A) izn'kZu dh laxfr ls

(B) lewgksa ds chp ifjorZu'khyrk ls

(C) fo"k;ksa ds chp vlaxfr ls

(D) mijksDr esa ls dksbZ ugha

[P.T.O.]
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56. Who developed the Barrow Motor Ability

test?

(A) Dr. Harold M. Barrow

(B) Rikli and Jones

(C) Dr. Harold Robinson Barrow

(D) None of these

57. Maximum strength is measured by :

(A) Short running

(B) High jump

(C) Vertical jump

(D) Shot put

58. Agility is the measured by :

(A) Shuttle run

(B) High jump

(C) Vertical jump

(D) Shot put

59. Flexibility is measured by which test?

(A) High jump

(B) Shuttle run

(C) Vertical jump

(D) Sit and reach test

60. What is measured by Tachymeter?

(A) Electro

(B) Elgon

(C) Endurance

(D) Flexibility

56. cSjks eksVj ,fcfyVh VsLV fodflr fd;k x;k %

(A) MkW- gSjksYM ,e- cSjks }kjk

(B) fjdyh ,oa tksUl }kjk

(C) MkW- gSjksYM jkWfcUlu cSjks }kjk

(D) buesa ls dksbZ ugha

57. vf/kdre rkdr ekih tkrh gS %

(A) NksVh nkSM+ }kjk

(B) Å¡ph dwn }kjk

(C) ofVZdy tEi }kjk

(D) 'kkWV iqV }kjk

58. piyrk ekih tkrh gS %

(A) 'kVy ju }kjk

(B) Å¡ph dwn }kjk

(C) ofVZdy tEi }kjk

(D) 'kkWV iqV }kjk

59. yphykiu fdl ijh{k.k ls ekik tkrk gS\

(A) Å¡ph dwn

(B) 'kVy ju

(C) ofVZdy tEi

(D) flV ,.M jhp VsLV

60. VSdksehVj ls ekik tkrk gS %

(A) bysDVªks

(B) byxkWu

(C) lgu'kfDr

(D) yphykiu
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61. The degree of refinement with which an

instrument may measure the quality being

measured :

(A) Validity

(B) Reliability

(C) Objectivity

(D) Precision

62. The status quo of defined group in the form

of statistical constant :

(A) Reliability

(B) Validity

(C) Objectivity

(D) Norms

63. AAHPERD youth physical fitness test is used

for :

(A) Physical fitness

(B) Motor fitness

(C) Both (A) and (B)

(D) None of the above

64. 50 yard Dash in AAHPERD test measure

for :

(A) Speed

(B) Endurance

(C) Agility

(D) None of the above

65. AAHPERD test was first time introduced in :

(A) 1957

(B) 1958

(C) 1959

(D) 1956

61. 'kks/ku dh og fMxzh ftlds lkFk dksbZ midj.k

ekih tk jgh xq.koRrk dks eki ldrk gS]

------dgykrk gSA

(A) oS/krk

(B) fo'oluh;rk

(C) oLrqfu"Brk

(D) 'kq)rk

62. lkaf[;dh;u fLFkjkad ds :i esa ifjHkkf"kr

lewg dh fLFkfr drkj gS %

(A) fo'oluh;rk

(B) oS/krk

(C) oLrqfu"Brk

(D) ekunaM

63. vkgij ;wFk fQftdy fQVusl ijh{k.k-----

ds fy, mi;ksx fd;k tkrk gSA

(A) 'kkjhfjd fQVusl

(B) eksVj fQVusl

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

64. vkgij VsLV esa 50 ;kMZ MSl ijh{k.k djrk

gS %

(A) xfr

(B) lgu'khyrk

(C) piyrk

(D) mijksDr esa ls dksbZ ugha

65. vkgij VsLV izFke ckj izLrqr gqvk %

(A) 1957 esa

(B) 1958 esa

(C) 1959 esa

(D) 1956 esa

[P.T.O.]
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66. Back and leg dynamometers are used to

measure :

(A) Heart capacity

(B) Capacity of flexibility

(C) Back and leg strength

(D) Speed capability

67. Spirometer is used for :

(A) In grip power

(B) In leg raise

(C) In lung capacity

(D) All of the above

68. Physical efficiency inventory is measured

by :

(A) Strength achievement

(B) Physical ability

(C) Body balance

(D) None of the above

69. McDonald’s Soccer trial is concerned with :

(A) Basketball

(B) Volleyball

(C) Football

(D) Handball

70. The validity of the Russell-Lange Volleyball

test is between :

(A) 0.677 to 0.81

(B) 0.677 to 0.80

(C) 0.675 to 0.85

(D) 0.670 to 0.90

66. cSd rFkk ySx Mk;useksehVj dk iz;ksx ekius esa

fd;k tkrk gS %

(A) ân; dh {kerk

(B) yphysiu dh {kerk

(C) ihB ,oa iSjksa dh rkdr

(D) xfr {kerk

67. LikbjksehVj dk iz;ksx fd;k tkrk gS %

(A) idM+ 'kfDr esa

(B) iSj mBkus esa

(C) QsQM+ksa dh {kerk esa

(D) mijksDr lHkh

68. 'kkjhfjd {kerk lwph dk ekiu gksrk gS %

(A) 'kfDr miyfC/k }kjk

(B) 'kkjhfjd {kerk }kjk

(C) 'kkjhfjd larqyu }kjk

(D) mijksDr eas ls dksbZ ugha

69. eSd~MksukYM lkWdj ijh{k.k dk lEcU/k gS %

(A) ckLdsVcky ls

(B) ckWyhcky ls

(C) QqVckWy ls

(D) gSaMcky ls

70. jlsy&ykats okWyhcky ijh{k.k dh oS/krk gS %

(A) 0.677 ls 0.81 ds e/;

(B) 0.677 ls 0.80 ds e/;

(C) 0.675 ls 0.85 ds e/;

(D) 0.670 ls 0.90 ds e/;



1103-B/360 (  17  )

71. Who created the minimum Muscular Fitness

Test?

(A) Harvard Step test

(B) Kraus Weber test

(C) Tuttle pulse

(D) None of these

72. Who created the Harvard Step Test?

(A) Thomas

(B) Lucien Brouha

(C) Brunt

(D) Chopa

73. What is measured by the Tuttle Pulse Ratio

Test?

(A) Agility

(B) Flexibility

(C) Cardio-Respiratory endurance

(D) Strength

74. What is the full form of AAHPERD?

(A) American Alliance for Health

Physical Education, Recreation and

Dance

(B) Alliance American for Heart

Education Research Dance

(C) Australian Alliance for Health Physical

Education Recreation and Dance

(D) None of these

75. Who created the AAHPERD Youth Fitness

Test?

(A) Brunt

(B) Stoma

(C) Paul Hunsicker and Guy G. Reiff

(D) Cooper

71. U;wure eLdqyj fQVusl VsLV fdlus

cuk;k\

(A) gkoZMZ LVsi VsLV

(B) Økl oscj VsLV

(C) VVYl iYl

(D) buesa ls dksbZ ugha

72. gkoMZ LVsi VsLV fdlus cuk;k\

(A) FkkWel

(B) yqflu czksgk

(C) czaV

(D) pksik

73. VVYl iYl jsf'k;ks VsLV ls D;k ekik tkrk

gS\

(A) piyrk

(B) yphykiu

(C) dkfMZ;ks&jslikbjsVjh lgu'kfDr

(D) rkdr

74. vkgij dk iw.kZ :i D;k gS\

(A) vesfjdu ,yk;al QkWj gsYFk fQftdy

,tqds'ku fjØh,'ku ,.M Mkal

(B) ,yk;al vesfjdu QkWj gkWVZ ,tqds'ku

fjlpZ Mkal

(C) vkLVªsfy;u ,yk;al QkWj gsYFk fQftdy

,tqds'ku fjØh,'ku vkSj Mkal

(D) buesa ls dksbZ ugha

75. vkgij ;wFk fQVusl VsLV fdlus cuk;k\

(A) czaV

(B) LVksek

(C) ikWy gafldj ,oa xkbZ th- jhQ

(D) dwij

[P.T.O.]



1103-B/360 (  18  )

76. The main basis of evaluation of a test is :

(A) Scientific credentials

(B) Primary practicality

(C) Educational experiment

(D) All of the above

77. The main criteria for selecting a test are :

(A) Technical base

(B) Administrative base

(C) Developmental base

(D) All of the above

78. The administrative basis of a test is based

on which of the following elements?

(A) Simplicity in the sight

(B) From equipment

(C) Time and money

(D) All of the above

79. What is the criteria of a good test?

(A) Administrative feasibility

(B) Validity

(C) Reliability

(D) All of the above

80. Administer means :

(A) To manage

(B) To afford

(C) To implement

(D) All of the above

76. fdlh ijh{k.k ds ewY;kadu dk eq[; vk/kkj gS %

(A) oSKkfud izekf.kdrk

(B) izkFkfed O;ogkfjdrk

(C) 'kS{kf.kd iz;ksx

(D) mijksDr lHkh

77. fdlh ijh{k.k ds p;u dh izeq[k dlkSfV;k¡

gSa %

(A) rduhdh vk/kkj

(B) iz'kklfud vk/kkj

(C) fodklkRed vk/kkj

(D) mijksDr lHkh

78. fdlh ijh{k.k dk iz'kklfud vk/kkj fuEu esa

ls fdl rRo ij vk/kkfjr gksrk gS\

(A) cukoV esa ljyrk ls

(B) midj.k ls

(C) le; o /ku ls

(D) mijksDr lHkh

79. ,d vPNs ijh{k.k dk ekinaM D;k gS\

(A) iz'kklfud O;ogk;Zrk

(B) oS/krk

(C) fo'oluh;rk

(D) mi;qZDr lHkh

80. iz'kklu dk vFkZ gS %

(A) izcU/ku djuk

(B) leFkZ gksuk

(C) ykxw djus ds fy,

(D) mi;qZDr lHkh
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81. A Treadmill is used for measuring :

(A) Speed

(B) Power

(C) Work done in running

(D) Force

82. Assessment of flexibility is done with the

help of :

(A) Dynamometer

(B) Tens meter

(C) Goniometry

(D) Cyber

83. Which of the following tests is not used to

measure muscular endurance?

(A) Sit-ups

(B) Flexed Arm hang

(C) Squat thrust

(D) Distance walk

84. J.C.R. comes under the_____ test.

(A) Shuttle Run

(B) Chin-up

(C) Vertical Jump

(D) All of the above

85. Measurement is done by Bamboo Stick

test :

(A) Strength

(B) Speed

(C) Endurance

(D) Co-ordination

81. VsªMfey dk mi;ksx ekius ds fy, fd;k tkrk

gS %

(A) xfr

(B) 'kfDr

(C) nkSM+us esa fd;k x;k dk;Z

(D) cy

82. yphysiu dk vkdyu fdldh lgk;rk ls

fd;k tkrk gS\

(A) Mk;useksehVj

(B) VsUl ehVj

(C) xksfu;ksesVªh

(D) lkbcj

83. is'kh; lgu'kfDr dks ekius ds fy, fuEufyf[kr

esa ls fdl ijh{k.k dk mi;ksx ugha fd;k

tkrk gS\

(A) flV vIl

(B) ¶ysDLM vkeZ gSax

(C) Ld~okV FkzLV

(D) nwjh pyuk

84. ts-lh-vkj-____ijh{k.k ds vUrxZr vkrs gSa A

(A) 'kVy ju

(B) fpu vi

(C) ofVZdy tEi

(D) mijksDr lHkh

85. ckal fLVd ijh{k.k }kjk ekiu fd;k tkrk

gS %

(A) rkdr dk

(B) xfr dk

(C) lgu'kfDr dk

(D) leUo; dk
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86. What is measured by the 600 yards Run/

Walk of AAHPERD Youth Fitness Test?

(A) Cardio-Respiratory Endurance

(B) Strength

(C) Agility

(D) Flexibility

87. What is measured by straight knee sit-ups?

(A) Flexibility

(B) Agility

(C) Strength and endurance of

abdominal muscles

(D) Strength

88. What does standing long jump measure?

(A) Flexibility

(B) Strength

(C) Explosive strength of leg muscles

(D) Agility

89. What is meant by J in JCR test?

(A) Vertical Jump

(B) Chinning-up

(C) Shuttle Run

(D) All of the above

90. Obesity measures :

(A) Stadiometer

(B) Anthropometer

(C) Skin fold caliper

(D) All of the above

86. vkgij ;wFk fQVusl VsLV ds 600 ;kMZ ju@okWd

ls D;k ekik tkrk gS\

(A) dkfMZ;ks&jslikbjsVjh lgu'kfDr

(B) rkdr

(C) piyrk

(D) yphykiu

87. LVsªV uh flV&vi ls D;k ekik tkrk gS\

(A) yphykiu

(B) piyrk

(C) isV dh ekalisf'k;ksa dh rkdr vkSj

lgu'kfDr

(D) rkdr

88. LVSafMax yk¡x tEi ls D;k ekik tkrk gS\

(A) yphykiu

(B) rkdr

(C) iSj dh foLQksVd 'kfDr

(D) piyrk

89. ts-lh-vkj- VsLV esa ts ls D;k rkRi;Z gS\

(A) ofVZdy tEi

(B) fpafuax&vi

(C) 'kVy ju

(D) mi;qZDr lHkh

90. eksVkik ekik tkrk gS %

(A) LVsfM;ksehVj

(B) ,aFkzksiksehVj

(C) fLdu QksYM dSfyij

(D) mi;qZDr lHkh
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91. Harvard Step test is used to measure :

(A) Strength

(B) Endurance

(C) Flexibility

(D) Co-ordination

92. Cable tension is used :

(A) In the measurement of speed

(B) In the measurement of strength

(C) In the measurement of fatigue

(D) All of the above

93. The method of measuring the size and

proportion of the human body is called :

(A) Polemetri

(B) Anthropometry

(C) Kinesiology

(D) Anatomy

94. Goniometer is used for :

(A) Speed

(B) Flexibility

(C) Endurance

(D) All of the above

95. Body Fat measurement device is called :

(A) Harvard Instruments

(B) J.C.R. Instruments

(C) Skin fold calliper

(D) None of the above

91. gkjoMZ LVsi ijh{k.k dk mi;ksx ekius ds fy,

fd;k tkrk gS %

(A) rkdr

(B) lgu'khyrk

(C) yphykiu

(D) leUo;

92. dscy Vsa'ku dks izq;Dr fd;k tkrk gS %

(A) xfr ds ekiu esa

(B) rkdr ds ekiu esa

(C) FkdkoV ds ekiu eas

(D) mijksDr lHkh

93. ekuo 'kjhj ds vkdkj o vuqikr dks ekius

dh fof/k dgykrh gS %

(A) iksysesVªh

(B) ,UFkzksiksesVªh

(C) fdafl;ksykWth

(D) ,ukVkWeh

94. xksfu;ksehVj dk mi;ksx fd;k tkrk gS %

(A) xfr ds fy,

(B) yphysiu ds fy,

(C) lgu'kfDr ds fy,

(D) mijksDr lHkh

95. 'kjhj dh pchZ ukius dk midj.k dgykrk gS %

(A) gkjoMZ midj.k

(B) ts-lh-vkj- midj.k

(C) fLdu QksYM dSfyij

(D) mijksDr esa ls dksbZ ugha

[P.T.O.]
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96. Which is not criteria of a good test?

(A) Reliability

(B) Validity

(C) Judgement

(D) Objectivity

97. The process of evaluating the degree to

which a test measures the factor for which it

was designed?

(A) Validity

(B) Reliability

(C) Objectivity

(D) None of the above

98. Criteria used in determining validity :

(A) Subjective Judgement criterion

(B) Comparison Testing criterion

(C) Critical Appraisal Criterion

(D) All of the above

99. A test when applied by different testers/

users should give almost the same result is

called :

(A) Objectivity

(B) Validity

(C) Precision

(D) None of these

100. What is the factor affecting reliability?

(A) Nature of examinees

(B) Length of the test

(C) Environment condition repeatability

(D) All of the above

96. ,d vPNs ijh{k.k dk ekinaM ugha gS\

(A) fo'oluh;rk

(B) oS/krk

(C) fu.kZ;

(D) fu"i{krkokn

97. ml fMxzh dk ewY;kadu djus dh izfØ;k

ftlds fy, ,d ijh{k.k ml dkjd dks

ekirk gS ftlds fy, mls fMtkbu fd;k x;k

Fkk %

(A) oS/krk

(B) fo'oluh;rk

(C) oLrqfu"Brk

(D) mijksDr eas ls dksbZ ugha

98. oS/krk fu/kkZfjr djus esa iz;qDr ekunaM gS %

(A) O;fDrijd fu.kZ; ekunaM

(B) rqyuk ijh{k.k ekunaM

(C) egRoiw.kZ ewY;kadu ekunaM

(D) mi;qZDr lHkh

99. ,d ijh{k.k tc fofHkUu ijh{kdksa }kjk ykxw

fd;k tkrk gS rks yxHkx ,d gh ifj.kke nsuk

pkfg,] dgykrk gS %

(A) oLrqfu"Brk

(B) oS/krk

(C) 'kq)rk

(D) buesa ls dksbZ ugha

100. fo'oluh;rk dks izHkkfor djus okyk dkjd

D;k gS\

(A) ijh{kkfFkZ;ksa dh izd`fr

(B) ijh{k.k dh vof/k

(C) i;kZoj.k dh fLFkfr nksgjko

(D) mi;qZDr lHkh
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Rough Work @ jQ dk;Z



Example :

Question :

Q.1

Q.2

Q.3

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigi lator.
Candidate can carry their Question
Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
gq, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ys aA

A C D

A D

A C D

B

A C D

A D

A C D

B


